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EXERCISES
VOCABULARY and GRAMMAR
Exercise 1. Mark the letter A, B, C or D to indicate the correct answer to each of the following questions.

1. The council wantsto __ the character of the city while reconstructing the Old Quarter.
A. preserve B. store C. defense D. abandon
2. Heavy traffic ____ us so we came to the meeting rather late.
A. promoted B. arrested C. canceled D. delayed
3. Itturned outto bea ... journey when the weather became bad.
A. hazard B. hazardous C. hazarded D. hazarding
4. Poaching ____ the greatest threat to many species.
A. creates B. presents C. poses D. produces
5. In Africa, people's interference in the rhino's __..._ leads to habitat loss.
A. sector B. territory C. domain D. country
6. ... thewild, giant pandas eat bamboo.
A.On B. Into C. Onto D.In
7. This species of African elephantsis .
A. dying out B. dying of C. dying on D. dying down
8. iswiping out many kinds of plants and animals.
A. Defoliation B. Deforestation C. Deformation D. Degradation
9. Thetigeris ____ of extinction. It is difficult to find them in the wild.
A. on the wing B. on the rocks C. on the verge D. on the ground
10. Switchingto ___ eco light bulb is one way to protect the environment.
A. energy-wasting  B. energy-expending C. energy-lacking D. energy-saving
11.  batteries or solar chargers are some of the solutions to the lack of energy.
A. Rechargeable B. Reversible C. Repeatable D. Returnable
12. I never leave any electrical appliances on standby and I think it is a good way to ___ energy in the
home.
A. take care of B. use C. keep D. conserve
13. Nowadays, people are searching for more __ materials to build their houses.
A. environment-friendly B. environmentally-friendly
C. environmental-friendly D. environmental-friend
14. Every ... piece of equipment was sent to the fire.
A. consumable B. spendable C. available D. disposable
15. Inthe ___ agriculture, farmers try to limit the use of chemicals and fertilizers.
A. sustainable B. conserving C. preserving D. supporting
16. In Singapore, people tryto ... 80% of all waste.
A. reprocess B. reclaim C. recycle D. reuse
17. A good leader in globalization is not to impose but __ change.
A. facilitate B. cause C. show D. oppose
18. Information technology has ___ our lives.
A. evolved B. reserved C. assimilated D. transformed
19. We need to act quickly to ___ to climate change, or it will be a disaster for the whole planet.
A. adapt B. go back C. reverse D. transit
20. There is little ___ of things improving soon.
A. probability B. probably C. probable D. Probabilities
21. Itis necessary that you __ able to come with us.
A. are B. be C. being D. to be
22. | suggest that Peter _ the directions carefully before assembling the bicycle.
A. read B. reading C. reads D. to read

23. We request that she the window.



A. not open B. not to open C. not opening D. to not open

24. The UK is considering the proposal that it compensations for damages of the Indian embassy.
A. been paying B. is paying C. paid D. pay
25. Howard prefers that I to his party.
A. am going B. go C. going D. will go
26. Mary demanded that the heater_ ... immediately. Her apartment was freezing.
A. repaired B. be repaired C. being repaired D. been repaired
27. The monk insisted that the tourists ___ the temple until they had removed their shoes.
A. not enter B. not entering C. not to enter D. to not enter
28. The recommendation that she _ a holiday was carried out.
A. has taken B. take C. taken D. taking
29. Was it really necessary that | there watching you the entire time you were rehearsing for the play? It
was really boring watching you repeat the scenes over and over again.
A. am sitting B. be sitting C. being sitting D. sitting
30. I propose that we all ... together so that nobody gets lost along the way.
A. be driving B. drive C. driven D. driving
31. Itis impolite that you ___ there when he gets off the plane.
A. be not standing  B. been not standing C. not be standing D. not been
standing
32. It is recommended that the vehicle owner _ present at the court.
A. be B. be not C . not being D. not to be
33. Congress has decreed that the gasoline tax .
A. abolish B. abolished C. be abolished D. been abolished
34. The doctor recommended that she _ a specialist about the problem.
A. be seen B. seeing C. should be seen D. should see
35. It is essential that she _ the truth.
A. told B. should be tell C. should be told D. should been told
36. It has been proposed that we __ the topic.
A. not change B. not to change C. to change D. to not change
37. They hope to ... acure for the disease.
A. catch up on B. come up with C. fill up with D. go out with
38. Don't worry, we'll tryto _ the problems and find a solution for everyone.
A. carry on B. make up C. sort out D. switch off

39. Tony was totally opposed but if you give him some time to think about what you said. I'm sure he will
to your point of view.

A. come round B. deal with C. fitout D. keep down
40. The rapid rise in the global population is not expected to start ___ until past the middle of this century,
by which time it will have reached 9 billion.
A. falling off B. knocking down C. looking over D. passing out
41. The teacher explained so much stuff in just one lesson that most of the students could __ only half of
it.
A. break up B. get through C. let out D. take in
42. The map of top ten most densely _ countries in the world includes Monaco, Singapore, Bahrain,
Malta and Bangladesh.
A. populated B. populating C. population D. popular
43. Interactive games could be used in order to keep students .
A. engage B. engaged C. engagement D. engaging
44. We could mention some solution and government _____in the conclusion.
A. initiates B. initiatives C. initiations D. initiators
45. Women who _ due to marriage are not considered tobe .
A. migrate — migrants B. migrate — migrators

C. migrant — migrators D. migrant - migrations



46. Each child had to a short speech to the rest of the class.

A. do B. carry out C . make D. take
47. Although it was more than an hour late, the superstar finally showed up and ____the attention of the
audience.
A. grabbed B. held C. paid D. took
48. Has the interviewer ___ the date? Yes, it's on next Monday.
A. amend B. fixed C. moved D. revised
49. Don't worry. We're in good time; there's __ to hurry.
A. impossible B. no need C. no purpose D. unnecessary
50. Overpopulation in urban areas tends to create unfavourable conditions, which may resultin __ of food
in developing countries.
A. damages B. failures C. shortages D. supplies
51. He wasn'table to __ with the stresses and strains of the job.
A. catch up B. come down C. cope D. handle
52. Urbanization can bring social health and benefit; | it also has its drawbacks.
A. by the way B . furthermore C. however D. moreover
53. True Blood is my favourite TV series, | don't have much time to watch it often.
A. although B. before C.if D. yet
54. After the children finished their dinner, they went to bed ___ listened to a bedtime story before falling
asleep.
A. that B. and C.so D. while
55. The rate of urbanization is low ___ the rate of urban growth is high.
A. but B. however C.so D. therefore

Exercise 2. Mark the letter A, B, C or D to indicate the word(s) CLOSEST in meaning to the underlined
word(s) in each of the following questions.
1. She's a down-to-earth woman with no pretensions.

A. ambitious B. creative C. idealistic D. practical
2. It is crucial that urban people not look down on rural areas.
A. evil B. optional C. unnecessary D. vital

3. Polish artist Pawel Kuzinsky creates satirical paintings filled with thought-provoking messages about the
world.

A. inspirational B. provocative C . stimulating D. universal
4. She was brought up in the slums of Leeds.
A. downtown area B. industrial area C. poor area D. rural area

5. The Freephone 24 Hour National Domestic Violence Helpline is a national service for women
experiencing domestic violence, their family, friends, colleagues and others calling on their behalf.

A. in the same country B. in the same family
C. in the same office D. in the same school
6. The promise of jobs and prosperity pulls people to cities.
A. education B. employment C. stabilization D. wealth

7. With so many daily design resources, how do you stay up-to-date with technology without spending too
much time on it?

A. connect to Internet all day B. update new status

C. get latest information D. use social network daily
8. Online Business School also offers interest free student loans to UK students.

A. no extra fee B. no limited time C. no repayment D. no interest payments
9. Many illnesses in refugee camps are the result of inadequate sanitation.

A. cleanliness B. dirtiness C. pollution D. uncleanliness

10. There has been a hot debate among the scientists relating to the pros and cons of using robotic probes to
study distant objects in space.
A. problems and solutions B. advantages and disadvantages



C. solutions and limitations D. causes and effects
11. Her style of dress was conservative. She never wears items that are too tight, short or low-cut.

A. high-fashion B. traditional C. trendy D. up to date
12. Many of the immigrants have intermarried with the island's original inhabitants.

A. foreigners B. landlord C. newcomer D. dwellers
13. The advances of commercial airplanes resulted in a shrinking world.

A. decreasing B. reduced C. smaller D. compressing
15. We have to suffer from traffic congestion and pollution every day.

A. accident B. fullness C. mass D. crowd
16. The African rhino is an endangered species and needs protecting.

A. unstable B. dangerous C. insecure D. indefensible
17. We can protect many species by keeping them in wildlife reserves.

A. protected land B. saved land C. park D. Zoo
18. Modern buildings are designed to maximize natural light.

A. absorb B. increase C. let D. diminish
19. It's wise to use local fresh produce which is in season.

A. cars B. restaurants C. crops D. Water

Exercise 3. Mark the letter A, B, C or D to indicate the word(s) OPPOSITE in meaning to the underlined
word(s) in each of the following questions.
1. This restaurant was highly recommended for good service, delicious food and kind-hearted boss.

A. ambitious and greedy B. attentive and helpful

C. generous and gracious D. polite and friendly
2. Since 1979, ULI has honored outstanding development projects in the private, public, and nonprofit
sectors with the ULI Global Awards for Excellence program, which today is widely recognized as the
development community's most prestigious awards program.

A. important B. notable C. ordinary D. respected
3. Many people move to urban areas seeking for job opportunity as well as stable employment.
A. durable B. long-lasting C. steady D. temporary

4. In cities, two of the most pressing problems facing the world today also come together: poverty and
environmental degradation.

A. destruction B. poisoning C. pollution D. progression
5. Unemployment is a massive problem for the government at the moment.
A. main B. major C. minor D. primary

6. A cost-effective way to fight crime is that instead of making punishments more severe, the authorities
should increase the odds that lawbreakers will be apprehended and punished quickly.

A. economical B. practical C. profitable D. worthless
7. 1 propose that we wait until the budget has been announced before committing ourselves to any
expenditure.

A. approve B. recommend C. reject D. suggest
8. Until 1986 most companies would not even allow women to take the exams, but such gender
discrimination is now disappearing.

A. unfairness B. injustice C. partiality D. equality
9. The best hope of' avoiding downmarket tabloid TV future lies in the pressure currently being put on the
networks to clean up their act.

A. expensive B. famous C. poor quality D. uncreative
10. Without economie security and amid poor living conditions, crime is inevitable.
A. assured B. compulsory C. inescapable D. preventable
11. Increases in motor vehicle usage have resulted in congestion on the roads.
A. blockage B. obstruction C. opening D. overcrowding
12. Urbanization is the shift of people from rural to urban areas, and the result is the growth of cities.
A. maintenance B. movement C. transposition D. variation

13. Her only problem is the limited experience because she is too young.



A. narrow B. considerable C. insufficient D . restricted
14. The river is badly polluted with toxic chemicals from that factory.

A. poisonous B. harmful C. all right D. deadly
15. 'If we continue to deplete our planets natural resources, we will damage the environment significantly.
A. use up B. add to C. reduce D. exhaust
16. Poverty in many African countries increases the likelihood that people poach animals to earn their living.
A. chance B. prospect C . possibility D. improbability
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Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs from
the other three in pronunciation in each of the following questions.

Question 1: A. thin B. think C. thanks D. that

Question 2: A. thrill B. hide C. prize D. crime

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other three in
the position of primary stress in each of the following questions.

Question 3 A. document B. holiday C. location D. journalist
Question 4 A. listen B. agree C. escape D. deny
Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the following
questions.
Question 5: Despacito, over four billion times on YouTube, is one of the most favourite songs
among teenagers worldwide.
A. viewed B. viewing C. which viewed D. is viewed
Question 6: Itis ....... in the city than it is in the country.
A. noisily B. more noisier C. noisier D. noisy

Question 7: | hope these machines will have worked very well
A. as soon as you would come back next month
B. when you came back next month
C. by time you come back next month
D. after you were coming back next month

Question 8: The restaurant is well-known its friendly atmosphere and excellent service.
A. for B.on C.in D. off
Question 9: She’ll take the flight for the early meeting, ?
A. won’t she B. hasn’t she C. didn’t she D. doesn’t she
Question 10: London is capital of England.
A.an B.a C.x D. the
Question 11: This school has an excellent ____in the community.
A. image B. reputation C. name D. opinion
Question 12: Unless we do something now, hundreds of plant and animal species will
A. point out B. die out C.cutup D. make up
Question 13: I'd expected weight on when I gave up smoking, but I didn’t.
A. to put B. putting C. to putting D. put
Question 14: . It's vital that the United States on improving its public education system.
A. focuses B. focus C. focusing D. focused
Question 15: While she was taking her exams, she a terrible headache.

A. will have B. has C. had D. is having



Question 16: Researchers have to the conclusion that personality is affected by your genes.

A. got B. reached C. arrived D. come
Question 17: There wasn't a chair for the headmaster, s a big problem.
A. what B. which C. that D. where
Question 18: They offered her the job because she was very on the design front.
A. creatively B. creative C. create D. creation
Question 19: During the last hundred years we have done great __ to the environment.
A.injury B. damage C. harm D. hurt

Mark the letter A, B, C, or D on your answer sheet to indicate the most suitable response to complete each
of the following exchanges.
Question 20: Would you like to have dinner with me?”’
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A. Yes, I’d love to B. Yes, sodo | C. I’m very happy D. Yes, itis
Question 21: Mrs Brown and Mr Smith are talking about teaching soft skills at school.
- Mrs Brown: “Some soft skills should be taught to children.”

- Mr Smith: . They are necessary for them.”
A. 1don’t either B. I agree with you
C. You’re quite wrong D. You’re welcome

Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) OPPOSITE in meaning to the
underlined word(s) in each of the following questions.
Question 22: Aren’t you putting the cart before the horse by deciding what to wear for the wedding before
you’re invited to it?

A. knowing the horse cart B. do things in the right order

C. doing things in the wrong order D. upsetting the horse cart
Question 23: He is writing a letter of acceptance to the employer with the hope to get his favorite position
in the company.

A. confirmation B. refusal C. agree D. admission
Mark the letter A, B, C, or D on your answer sheet to indicate the word(s) CLOSEST in meaning to the
underlined word(s) in each of the following questions.
Question 24: Please give me some recommendation to buy suitable books for my ten-year-old girl.

A. advice B. defense C. interest D. question
Question 25: He has been jobless and often has to ask his parents for money
A. out of fashion B. out of practice C. out of order D. out of work

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is closest meaning to each
of the following questions.
Question 26: Every student is required to write an essay on the topic.
A. Every student might write an essay on the topic.
B. Every student must write an essay on the topic.
C. Every student can’t write an essay on the topic.
D. Every student needn’t write an essay on the topic.
Question 27: “If [ were you, I would rent another room” said my friend.
A. My friend threatened me to rent another room.
B. My friend was thinking about renting another room.
C. My friend insisted on renting another room.
D. My friend advised me to rent another room.
Question 28: He last cooked for the whole family five months ago.
A. He didn’t cook for the whole family five months ago.
B. He has cooked for the whole family for five months.
C. He hasn’t cooked for the whole family for five months.
D. He would cook for the whole family in five months.
Mark the letter A, B, C or D on your answer sheet to indicate the underlined part that needs correction in
each of the following questions.



Question 29: She is a confidential and practiced speaker who always impresses her audience.

A. confidential B. practiced C. impresses D. audience.
Question 30: My sister finally got his own favorite piano to practice every day.

A. finally B. his C. to practice D. every
Question 31: Last night, she stays up so late to study for her exams.

A. stays B. so C. to study D. her

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that best combines each pair of
sentences in the following questions.
Question 32: . The expenditure of the office remained stable. The profit rose by 25%.
A. The profit rose by 25% although the stabilization of the office's expenditure.
B. The profit rose by 25% as a result of the stabilization of the office's expenditure.
C. The profit rose by 25% despite the stabilization of the office's expenditure.
D. The profit rose by 25% owing to the stabilization of the office's expenditure

Question 33: Today isn’t Sunday, so the pupils can’t go swimming.

A. If today were Sunday, the pupils could go swimming.

B. If today is Sunday, the pupils could go swimming.

C. The pupils could go swimming unless today is Sunday.

D. The pupils could not go swimming if today isn’t Sunday.
Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the correct
word or phrase that best fits each of the numbered blanks from 1 to 5.

A stinky gym bug in your kitchen? Who will be more upset by the smell - the men or the women in your

family? (34) scientists suggest that women not only smell, but feel, taste, and hear more accurately
than men.

Take colors, for example. One study suggests that men are not as good as women at distinguishing
between (35) of color, although they focus well on rapidly changing images. As for touch, small

fingers have a finer sense of touch, whether male or female.

Hearing is possibly one of the most debated areas, when talking about the senses. Evidence shows that
boys hear as well as girls at birth, but with age, a man’s hearing may soon deteriorate. (36) ,
environmental factors could play a role in this. Women may also be better at identifying different flavors (37)

need both taste and smell to experience, as studies have shown that they have more taste buds on
their tongue.

Going back to the smelly gym bag - yes, it’s likely that Mom will be the most (38) out by it.
But is that because women’s brains have more ‘smell cells’ or because you were too lazy to move it?
Question 34: A. Each B. Some C. Another D. Every
Question 35: A. smells B. senses C. shadows D. shades
Question 36: A. Moreover B. Therefore C. However D. Due to
Question 37: A. who B. which C. where D. whom
Question 38: A. taken B. sprung C. mazed D. freaked

Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word for each of the questions from 39 to 43.

Dogs originally came from wolves. Wolves look a lot like dogs, but they are bigger. They are also quite
fierce. At some point, some wolves changed through evolution. Some of them were smaller and gentler.
These nicer wolves were the first dogs. No one knows for sure when this happened or why. Some people say
it happened naturally over 50,000 years ago. Others say people made it happen between 15 000 and 50 000
years ago.

However they came to be, people quickly saw that dogs were useful. Scientists who study humans say
the first tame dogs appeared with humans about 13,000 years ago in the Middle East. Not long after there
were dogs in Asia, Africa, Europe and eventually, North America. These dogs were probably used mostly for
hunting and traveling. They were also good companions.



Dogs were an important part of life in ancient Egypt. Egyptian dogs were used not only for hunting but
as guards and warriors as well. They believed the god that guarded hell was a dog. Ancient Egyptians also
named their pet dogs. Some popular names meant Brave One, Reliable, North-wind, Blacky, and Useless.

Dogs were also good ancient Roman warriors. The Roman army used dogs all over Europe. Sometimes
the dogs were attack dogs, but other times the dogs were messengers.

There are many different kinds of dogs today. How could they all come from wolves? There are many
different explanations. Some scientists believe that dogs mixed with other animals from the Canidae family.
This includes coyotes, foxes and jackals. Most scientists also believe that evolution and breeding influenced
the variation. Later, people found breeds of dogs they liked and combined them to make all new breeds. In
this way. people are still helping new breeds to appear today!

Question 39: Which of the following best states the main idea of the reading?
A. No one knows for sure where dogs first appeared with humans.
B. There are two theories about the evolution of dogs.
C. Evolution and breeding have made dogs what they are today.
D. Human beings used dogs for many jobs, so dogs are the first tame animals.
Question 40: The word “they” in the first paragraph refers to

A. people B. years C. dogs D. wolves
Question 41: According to some scientists, when did the first tame dogs appear with humans?
A. About 15,000 years ago B. Between 15,000 and 50,000 years ago
C. Over 50.000 years ago D. About 13,000 years ago
Question 42: The word “companions” in the second paragraph mostly means .
A. messengers B. co-workers C. traveling friends  D. hunting animals

Question 43: According to the reading, which of the following is TRUE?

A. Most people like to name their dogs Reliable, Blacky, and Useless.

B. The Roman always used dogs as messengers.

C. The first tame dogs appeared in ancient Egypt.

D. According to some studies, dogs mixed with coyotes and jackals.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the correct
word for each of the questions from 44 to 50.

Many people see large urban cities as a wonder of human imagination and creativity. They represent
how far the human population has come in terms of community development. Despite its positive things,
there are also negatives from urbanization on the physical health of humans living.

As it would be expected, developing countries tend to see more negative physical health effects than
modern countries in regard to urbanization. One example of a developing country experiencing these
problems is China. China is a country that in the past 30-40 years went from being an agrarian based society
to a significant industrialized country. This industrialization has in effect caused the need for more
centralized cities, centralized meaning having lots of jobs and living spaces within a close proximity. In most
recent decades, since China’s change to being more of an industrial based economy, the country has
experienced record high numbers of people migrating within its borders. In effect, the number of cities with
over 500,000 people has more than doubled. These migrations are typically of people from rural areas of
China moving to the new urban areas. Due to this large influx in the urban population, there are many
possibilities for health challenges among these people.

One very common and fairly obvious negative aspect of highly congested urban areas is air pollution. It
could include particulate matter, most commonly attributed to industrial plants and refineries waste, or
chemicals like CO2 or Methane. Due to a vast number of people in these urbanized cities, the air pollution is
known to be very extreme. These conditions can lead to many different health problems such as: Asthma,
cardiovascular problems or disease. When exposed to these conditions for a prolonged period of time, one
can experience even more detrimental health effects like: the acceleration of aging, loss of lung capacity and
health, being more susceptible to respiratory diseases, and a shortened life span.

Another way that urbanization affects the populations’ health is people’s change in diet. For instance,
urban cities tend to have lots of accessible, quick, and easy to get food. This food is also more than likely not
as high quality as well as contains a large amount of sodium and sugar. Because this food is so accessible,



people tend to eat it more. This increase in consumption of low-quality food can then lead to diabetes,
hypertension, heart disease, obesity, or many other health conditions.
Question 44: Which of the following could be served as the best title for the passage?
A. Urban cities - The new opportunity for community development
B. Urbanization - Pros and cons
C. Urbanization - How people’s health is impacted?
D. Developing countries - The fastest urbanization
Question 45: The word “agrarian” in paragraph 2 mostly means

A. farming B. industry C. city D. modernizing
Question 46: The word “congested” in paragraph 3 is closest in meaning to .
A. fresh B. overcrowded C. sparse D. contaminated

Question 47: The following are the air pollution sources mentioned in paragraph 3, EXCEPT
A. industrial plants B. factory sewage C. refineries waste D. chemicals

Question 48: The word “it” in the last paragraph refers to ?
A. quality B. sugar C. food D. sodium

Question 49: Why are urban populations easy to get diseases from food, according to the last paragraph?
A. Because of the change in people’s diet.
B. Because this food is so delicious that people have a tendency to eat more than normal.
C. Because the way people get this food is rather accessible, quick and easy.
D. Because of the low quality and the high proportion of sodium and sugar in this food.

Question 50: What can be inferred from the passage?
A. One of the negative health effects comes from the overpopulation in industrialized countries.
B. Living in urban areas for a long time will certainly make the life expectancy of inhabitants shorten.
C. People in developed countries suffer less harmful health effects from urbanization than those in
developing nations.
D. The bad health effects from urbanization are not greater than the benefits it brings to people in urban
cities.



